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AN AHE =X
B MUNASY(SHHYEL/LY - ME)
ool MENRAES (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O ZHl 2,000
—=2ZMEXNZA 2FH| 2,000
OAEZHI S X 10,000
— S&E AEEH RA(HXLO0I] S 55) 6,000
— SHZ A ANEFEISX(3HL) 4,000
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
OstzEs UHM(RE S) 5,000
401 AIEHI L 201 345,500 228,000 117,500
01 A& HI 345,500 228,000 117,500
ogorelgz |A 2= 20,000
OANUWZ2nAA SLt2 Fl 150,000
OBSs MEEFE 22l (3km) 20,000
Os&z ZHII(SsES) 13,000
OtXN&EaHSHS) 22,500
OMEEZZ =4 120,000
=2dx4 &2 (ae2) 250,000 310,000 A 60,000
Xl 125,000
< 37,500
Al 87,500
401 Al Bl 2B 250,000 310,000 A 60,000
Xl 125,000
< 37,500
Al 87,500
01 A& HI 250,000 310,000 260,000
OsS4&2 Al (3km) 250,000
Xl 125,000
< 37,500
Al 87,500
M MEIA =20 2Z XA 32,220 14,304 17,916
= 16,110
< 4,833
Al 11,277
101 @124l 32,220 14,304 17,916
= 16,110
< 4,833
Al 11,277
04 D12t 22 HEE =+ 32,220 14,304 17,916
O=ZMEXNZA(1Y) 16,110
= 8,055
< 2,416
Al 5,639
OZAl=X2cld (1) 16,110
= 8,055
< 2,417




A M=
B MUNASY(SHHYEL/LY - ME)
ool MENRAES (cho &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
| Al 5,638
ANAS 2 300,000 0 300,000
401 AlEHIZ 201 Y| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
OXds22 TH(J|=2 L AAIEAHYH]) 300,000
MEISAUAIE X4 L 2 250,000 0 250,000
401 AIEHIZL £ 0HY| 250,000 0 250,000
01 Al&H| 250,000 0 250,000
OANSsE X&Es Ba 250,000
MEIYEZIAEZAS 100,000 0 100,000
401 Al HI L £ 0HHI 100,000 0 100,000
01 Al& H| 100,000 0 100,000
OZ22AAATHEH (MTB) 2 AN (3IH 2 A 71km) 100,000
M THOH L K2l O (ASHMSo 2 MEH) (A A 289,552 190,986 98,566
= 144 776
< 43,434
Al 101,342
101 e1214| 285,252 190,986 94,266
= 142,626
o 42,789
Al 99,837
04 JI12ZtHIZ22NEES 285,252 190,986 94,266
OO0l =2 HIcHe6Y) 285,252
= 142,626
= 42,789
Al 99,837
301 et A= 4,300 0 4,300
= 2,150
& 645
Al 1,505
09 HAIAHI BEAZ 4,300 0 4,300
ONEEHH n=x 4,300
= 2,150
= 645
Al 1,505
A THOH L Ktel &I (AEHSOH M) (X2) 12,320 4,000 8,320
= 6,160
o= 1,848
Al 4,312
405 XH&HF S HI 12,320 4,000 8,320
= 6,160
= 1,848
Al 4,312
01 XL 2 FF S| 12,320 4,000 8,320




SN MESXD
M MATNEASA(SWSSL/AY - ME)
ool MENRAES (cho &)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIAHE (16TH) 12,320
= 6,160
< 1,848
Al 4,312
ZESRH0SHEEZLARY 14,251 14,251 0
= 7,125
< 2,138
Al 4,988
101 14l 14,251 14,251 0
= 7,125
< 2,138
Al 4,988
04 JI12ZtHZ22HEaE =+ 14,251 14,251 0
OM&sY OlsEseE 14,251
= 7,125
< 2,138
Al 4,988
AetHE =LA 253,619 26,437 227,182
= 130,726
< 36,008
Al 86,885
101 @14 Hl 26,825 26,437 388
= 13,587
< 3,970
Al 9,268
04 JIZHHZ2Z2XRHEE S 26,825 26,437 388
OEsue NaYHME(4Y) 5,212
= 2,679
< 759
Al 1,774
Oelud g X&LHS(4Y) 4,613
= 2,408
= 661
Al 1,544
OJIEtHE KALH(4Y) 17,000
= 8,500
< 2,550
Al 5,950
206 M= Hl 41,141 0 41,141
= 20,570
< 6,170
Al 14,401
01 MHZ 8l 41,141 0 41,141
OS2 H ANH2ES 41,141
= 20,570
< 6,170
Al 14,401
401 Al HI K 201 I 185,653 0 185,653
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B MUNASY(SHHYEL/LY - ME)
ool MENRAES (cho &)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 96,569
= 25,868
Al 63,216
01 A& HI 185,653 0 185,653
OJIetEoll s &= 167,000
= 87,000
< 24,000
Al 56,000
OSolgd)| e 18,653
= 9,569
< 1,868
Al 7,216
L2USHESE & X 4,206,545 2,196,272 2,010,273
= 2,945,896
= 371,676
Al 888,973
101 @124 dl 170,000 0 170,000
= 119,000
= 15,300
Al 35,700
04 JIZHHZ22XREE S 170,000 0 170,000
OMdsEL M 1A 170,000
= 119,000
< 15,300
Al 35,700
201 Let24d] 150,000 60,000 90,000
= 105,000
< 13,500
Al 31,500
01 At 2teltl 150,000 60,000 90,000
Oogxtz 150,000
— S X LXH(7) 105,000
= 73,500
< 9,450
Al 22,050
— U= (I S) 45,000
= 31,500
< 4,050
Al 9,450
206 M= Hl 30,000 0 30,000
= 21,000
< 2,700
Al 6,300
01 =4l 30,000 0 30,000
OMd=sELMS HZHI 30,000
= 21,000
= 2,700
Al 6,300
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O
e
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o
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o
1
A
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OaxURMHEaEE &

=

= H W =z N H = A =MW
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3,493,545
61,434
47,257

4,253
9,924
4,428
3,104

397

927
3,080,254
2,153,235
271,587
655,432
280,000
196,000
25,200
58,800
67,429
47,200
6,069
14,160
360,000

360,000
252,000
32,400
75,600
3,000
3,000
2,100
270
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1,971,009

165,263
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B
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SN MESXD
B RASNIA(SHHYEL/LY - ME)
S AESs A BF )
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
PSS A8 & F 4,858,723 5,672,096 N 813,373
Xl 170,000
= 238,000
Al 4,450,723

ANABR 22 300,002 472,235 N 172,233
= 150,000
Al 150,002

101 e1214| 105,510 103,235 2,275
= 52,754
Al 52,756

04 JIZtHIZ2E2EXNEE 105,510 103,235 2,275
OEg2a 2o (sHFHY|) 87,487
A== 51,7603 x6H 176 54,659
< 27,329
Al 27,330
— 2tAH| 3,000 x6H x176LY 3,168
& 1,584
Al 1,584
—-529422 51,760& *1.5x6H x35& 16,305
= 8,152
Al 8,153
PN 51,760& *x6H *353F 10,870
& 5,435
Al 5,435
— A Xt 51,7603 x6H 8 2,485
& 1,242
Al 1,243
OFgZ2a &2 (HsdDl|) 15,023
- Jl2s 51,760& *4H x44 9,110
o= 4,555
Al 4,555
— 2HALH] 3,000 x4 44 528
[ 264
Al 264
—-—52422 51,760& x1.5x4H 10 3,106
& 1,553
Al 1,553
PN 51,760& *4H 9= 1,864
== 932
Al 932
— A Xt 51,760& x4 »2 415
o= 208
Al 207
OZ2J &g 2= 3,000
== 1,500
Al 1,500

201 L2 | 12,492 17,000 ~4,508
= 6,246
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AN AHE =X
M DRSNEA(SEWSSL/AY - ME)
el MEEYIIN BB (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=AUHERKIRE £ 2l 253,300 362,256 A 108,956
< 46,000
Al 207,300
401 Al HI K 201 I 253,300 348,000 A 94,700
< 46,000
Al 207,300
01 A& Bl 251,300 346,000 A 94,700
oYy =3 20,000
= 6,000
Al 14,000
OoXNdgdAast 33,300
< 10,000
Al 23,300
OME=H=R32xY 198,000
= 29,400
Al 168,600
03 A& =2 THHI 2,000 2,000 0
OMEZEH =T BAZXH 2,000
< 600
Al 1,400
=sXN332F4 2 22 ,570,453 1,584,517 A 14,064
101 @124l 459,612 439,925 19,687
04 JIZHHZ2Z2XNSE+ 459,612 439,925 19,687
Oz & A= 2l 344,930
—EMHJIS (H6X) 193,702
s 51,7603 20 «140 144,928
2FAlH| 3,000 *20Y x140 8,400
EIPNE=t 51,7603 x20H 33 34,162
Hxt=g 51,7603 x20H x6 6,212
— ORI M=, =222 sS () 151,228
2= 58,000 *14H =140 113,680
Z2tAlH| 3,000& «14H 140 5,880
FI=E 58,0003 x 14 33 26,796
X 58,0003 x14H 6L 4,872
OJz4+ 9 MEEtel22S (YA 32,406
—Jles 58,000 x3H » 140 24,360
— 2HAlH| 3,0003 x3H 140 1,260
T 58,0002 x3H 33 5,742
— QX 58,0003 »3H 6 1,044
O2LE3d ¥ =Ld=2cItHs sx2el 82,276
—EMHINS(HAI) 82,276
2= 51,7602 *10E 120 62,112
2tALH| 3,000& 10 «120 3,600
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